Class:9th

If 10g648=x/ 2, then the value of

a) 1
e) 3

b) 2
d) 4
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' The characteristics of 5.79: - ~#b65.79
a) 0 b) 1 a) 0 b) 1
c) -1 d) -2 c) -1 d) -2

2 In log, 64 = 2, the value of x is: _Jﬁdd};ﬁlog,‘m:zﬁ
a) 64 b) 2 a) 64 b) 2
c) 64° d) 8 c) 642 d) 8

> logm® can be written as: ~4.CC b L7 logm”
a) (IOg m)“ b) mlog n a) (Iog m)n b) m}og n
¢) nlogm d) log (mn) c) nlogm d) log (mn)

4 Antilogarithm table was prepared by .- - J jL';d:,' s MJ r‘; K4 J’Eq
a) John Napier  b) Henry Briggs 2) Aoz b) S 28 4
c) Jobst Burgi  d) Arthur Cayley ) (.2 O & s

> If @ = n then: Iva‘=nt]
a) a=logn b) x=log,a a) a=logmn b) x=log,a
c) x=logn d) a=logx c) x¢ logn d) a=logx

6 L5 (0 r 5 ¢ f
If a number and base of its logarithm arg QS V'J/)Kjgljjl}ﬁbgﬁ
same the answer will be - vcoveeeviiininnins > ..{}’E
a) 0 b) -1 a) 0 b) -1
c) 1 d) 10 0 1 d) 10

7 Scientific Notation of 0.0643 1§ - - ﬁ%(.’f}’uxmfo.oam
a) 643x102  b) 643% 102 a) 643x10%  b) 643x107
c) 643 x10%  d) 6.43x10* ¢) 643x10*  d) 6.43x10*

ﬁj}f;«fJx;ﬁ 10g648=x/2 A

a) 1
c) 3

b) 2
d) 4



